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101|R#A7 L 109 27 82| Kg |EE 2,700 1,728 3,240 1,026
102|357 L 3,470 3,470 Kg S - BIE 3,845 464
111|&EEF £ 388 3 385| Kg |[@EB 1,404 ®e - B 1,890 403
113|RAV S 2 2| Kg BE 7,020
114|B5EFE 230 7 223 Kg |ERE 1,620 FiE - BE 2,808 1,080
117[14 % 2 2| Keg fE 3,622
121{hblE € 64 27 37| Kg |@ES 1,728 432|E s 1,728 1,404
134[#= 461 225 236| Kg |B)I-EH 2,800 1512|=%& 3,240 1,512
137|&5E3.< 536 396 140 Kg |EE 4,860 1,069| 582 6,533 1,188
138|#ik £ = 33 33| Kg =5 4,860 2,700
140(5 I 27 27| Kg e[AEs 48,960 31,500
147|EZ O 134 6 128| Kg |ERS 7,020 BRE - Hil 9,720 6,000
158|EIEA A LS 512 512| Kg =40 1,998 864
201{Lvb L 372 372| Kg = 360 108
203|/hd L 174 174|  Kg R 324 81
205|3.3 L 76 76| Kg =40 440
206| = 1F 550 550 Kg e 1,560 568
208| Mo % 3 3| Ke 4] 1,404
212|&5E.3 Y 1,261 1261 Kg E - BiE 2,938 1,300
251|< %<3 507 257 250| Kg |&F 6,048 5,400|/% 8,964 3,834
254|EhRECH 886 886| Kg Bh 3,186 972
303|1A 220 57 30 2711 Kg |\ 720 252| &)1l 864 468
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3321 WA =EF 302 302 Kg F 2,052 1,944
351|4£ 8 25 25| Kg Bl = 8,100 4,644
3541xx <Y 57 571 Kg FE 1,944 1,053
3/5|HEY) 110 10 100 Kg [HE 432 A - EE 1,620 600
356|L LA 35 35 Kg SER 1,080

357~ E 40 40| Kg FEE 1,782 1,260
358| KE 12 12| Kg A0 2,160 1,728
362(H & 422 4221 Kg FE 3,240 432
4025 5 &E 20 20 Kg A0 5,400 4,320
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512| A& AL 35 35| Kg b 1,450 1,058
523| A EARAT 2 O 749 749 Kg =] 4,896 1,055
554\ XX BIA AR 10 10| Kg b 1,050
558|# 10 10| Kg b 1,026
560|472 598 598| Kg Bh 2,990 870
566|458 < 481 481 Kg b 10,260 2,300
576|4R & 1F 590 590| Kg JeimiE - AbE 1,836 1,050
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701({B Y HA 534 190 344 Kg |EE 3,900 mH 2,322 1,890
705[7=2< Y 22 22| Kg A 9,720 3,096
710(5 2 HHF 294 294 Kg EE IR 1,296 216
755(FdH L 57 57| Kg E=AES 1,020 679
756(FAMN F T 11 11| Kg K& 1,588 1,466
61U HAELE 28 28| Kg FLfis 2,700
763 2 HNC 22 14 8| Kg |&E 8,308 7,714\ &E 8,576
801|1EHI = |} 268 268 Kg - A 2,700 1,458
802|i& = ¥ 10 10| Kg JbiEE 1,350
805|tE = (F 210 210 Kg Tz 1,368 770
807 |E#H DT 180 180 Kg Jb¥ 7,560 3,780
810|BAKF 253 253 Kg B| = 3,456 1,296
8I5| =YX AFE 30 30 Kg JbiEE 734
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